Geometry H Name : Key
Unit 3 Extra Practice Date: Period :
1. Given the triangle blow, please solve for x and y.
X+70+726 (90
Y+46+20 =190
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2. Given ATSR = AYXZ,

zX = S
2R= 3 v
Y= T

3. Given the diagram below and m£ADC = 92°, please find m D AB.
ax+4a <180 24 +136 < 150 MDAB - 44+ad
L 29 -4 MCDAB : 66°
i Sh Y=dd —
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4, Given the diagram below, please solve for x.
6o+Y+e0TY +2y= 150 X416 +15 =130

4207150 [x=150 |
"y:60

y=19

5. The lengths of two legs of an isosceles triangle are (3x2

the triangle is 150 cm. Please find the length of the base.

~5) cm and (x2 + 27) cm. The perimeter of
36 <43 om Y+43+43 = 160
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qz"’“gt Given the diagram below, please solve for x and y.
At 4Xty =180 10
Sm A Y \ 4xty= 10 N 4xtil =150 1
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7. In ABC, the measures of the anglesare m«A = (3x — 17) 5, m«B = (x + 40) ° and
m«C = (2x — 5) °. Please classify the triangle by its side lengths and angle measures.

IR-ATH ReUO £2% -5 =150 meA= 3(a1) VT = gy
LX 41§ <150 mep: 3TRC = B1]° ) \S(G\CN awute I
e ———
e meg s 2(21)5 = 44°
X-31
8. Given the diagram below, please find m<ACD.

5 5X'30"Xf3)(’0| mtAU)=5(ai)-50

§%-30= 4x-9 >

ol & \ MeACD # 75°

%x-30:-9 | [ ——

e} \x=a|

9. Given the diagram below, please find m /LK.

AxH0+ 3L -5 2|80 Y +50 £60 = 10
5A-4% -\§0 \J;aoo
HR =339
meJik=a0’
bicoF VAT
10. In AEFG, m«F = 3(nﬁfG) andme«E = (m«F — 30)°. Please find the measure of each angle
me6 = X meE=3%-30 Xt3x+3X-30:1§0
m(F:5x 1X-30=150

1A:310 M X=30
11. Given ABCD EFGH please find x and y. -

ATLE S0 - 1Y+
03=1Y
Y¥=q

—
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0L FG s 8+3%-3
W= ax

H [y (2x-3) cm
Qe

12. Please classify AABC by its sides and determine if the triangle is a right triangle. A(2, 3), B(6, 3),
C(2,7).
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13. Given the diagram below, please solve for x and y.

By-4=y+1d 3%-3a b
3x2 - 32
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q\J‘:\b Xlz ‘b
T : |- ]
o \o e

x:4
14. State the third congruency that must be given to prove APQR =ASTU using the ASA Congruence
Postulate.

Given: «R = 22U, 2P = S

Q T .ByASA, g’ﬁgﬁ{)
P@R ¢ U

15. The lengths of the sides of a triangle are 3x, 5x — 12, and x + 20. Please find the values of x that make
the triangle isosceles.

A 5%-1d 34 X120 - %4120
Hk
3&‘5)('\3 .6‘:x‘,20 5&-\2:X\'10
-2%=-\2

2% 20 4x-12=20
x-e] e =y

16. Given the diagram below, please find all possible angle measures for m «GEF.

B am i When X:10: M<F=4o°
s x0 Yx - Ho-ax+40 e 220"
/.410—}&.)? X7-4%=30-a% MeGEF = \00°
/ \ X-ax-$0=0 )
N When X< -8: eF = 40
400 S —day 5 (x_w)(x*?)zo NG 560
F E

X=10, X=-§ meGebo Bl
17. Given the diagram below, please find the measures of all of the numbered angles.

AA:0+40¢mel - (S0 Mel+mea=180 (unearpar)

(et 50°] 50 +mea 180
[me3=50° | bic VAT @
meu=130° ] bi¢ VAT
AC: 0+50+me5 = |§0 r’_-’_l

imLt;:qo“{ Ap: A0+15) +Me6=1\50
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18. Can the triangles be proven congruent based on the given information? If so, state the postulate or

theorem you would use to prove congruency.

Yes, AAWD T AAC by Ans}

mzADC = 35°
B ————
mzABC = 35° (F
m«DAC = 26° / RePFr;X\W/
m.BAC = 26° 50
19. Given the diagram below, please solve for x.
4% 4gr8a+2 =\%0
2:=h0
i 33

gwnqukl Ath0+2b - \&U
5:20 ‘/‘__iaqu'

20. The measures of the angles of a triangle are (2v2x)°,(2v2x)°, and (5v2x)°. Please find the

measure of each angle. \l \ Y
afax+afax + 5{ax =150 . a{3aW) m . 5{2(100)
afax =130 . 2l e =5 {uoo
Bax-20 = a(a0) at)
ax= 400 F‘JOT] \ 00"
| %2000 | o -

21. Given that «.P = 5 and PQ = ST, state the third congruency that must be given to prove
APQR = ASTU using the AAS Postulate.

Q 0
R < U




22.

Given : AB | EF, 4B = EF, BC = DE

Prove : AABC = AFED

Statements Reasons
1. — — 1.
AB |l EF Given
2, — \ —
B=¢ Gwen
o 3.
& £ OE Geen
4. .
Lp? g Atk Ink. Angles Thm
5. " 5.
ARBC T AFED SAS
A
23.
Given : E is the midpoint of AD, EB||DC, AB||EC
Prove : AABE = AECD i
c
Statements Reasons
1. —_ 1.
€ 14 thevaidpoint of AD Gwen
2. — = 2.
AE = DE Def of midpownt
—_ - 3.
EB /I DC Gwen
4. . 4,
<AEBZ <EDC (orresponding Angles Pottulate
— == 5.
Ab Il EC Given
° 4BRHE D L(ED

7
AABE 2 AECD

" Covresponding Angles Posrulate

ACA




24, M
YA 7T
Given: 4B and CD bisect each other at point M
Prove : AD||BC
Statements Reasons
1. — - 1.
AB and (D Yitect ean otner at pownt M Given
2. — A= 2.
AM = BM Def of Segment bisedoy
35 _ . 3 .
DM = (M Det of segment o seroy
4. 4,
AT VAT
5. - 5.
ADMA ST Acmp CAS
6. 6.
4D¥ ¢ LeTe
AD 1l &C ALk OE Angles Converse
8. 8.
Answer Key

Question1:x=85,y=65
Question 3 : 66°

Question 5: 64 cm

Question 7 : x = 27, Acute Scalene
Question 9 : x =45, 20°

Question11:x=5.5,y=9

Question 13:x=-4o0r4,y=4

Question15:x=6, 8, 10
Question 17 : 50°,130°,50°,130°,40°,30°
Question 19 : x =104

Question21: LR=/U

Question2: /S, /Z, /T

Question 4 : x =150

Question 6 : x =29,y =64

Question 8 : x =21, 75°

Question 10 : 30°,60°,90°

Question 12 : Right Isosceles

Question 14 : PR=SU

Question 16 : x = -8, 84°, x =10, 120°
Question 18 : AAS

Question 20 : 40°,40°,100°

Questions 22 — 24: Check solutions on my website




